track x?

| N of reco track vs normalized x2 | | N of associated (recoToSim) tracks vs normalized x? N of associated (recoTosim) looper tracks vs normalized X
1%} g Lxﬂ [%]
] < g g
8 g g g
1 ol ;]_04 --------------------------- b
=] X ‘(_ﬁ‘
2 = S10°
L F =
10°E 10°F 3
10° 10°F 10k
10°F 10k s
I I 1=
10F 1t
g = . T I . g E o £
= H I S [
g 1 TR IRT AR B8 R R I & " & g
Ll s q 0.8] 3 [oF: S
04| VI B -1 :
0 --t-s et % H’Hl#“ CL o o o o L it || R R A A s
0 2 4 6 8 10 12 14 16 18 20 0 2 4 6 8 10 12 14 16 18 20 0 2 4 6 8 10 12 14 16 18 20
track x2 track x2
=
.............................. g 8
GO @
K 8
Bl - - i e aeiaaaaa
10 B . =]
ET
102—--“-'--“\ ----------------- .y

1L




	Contents
	Page 1


